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QUESTION 1

Which statement is correct regarding LUNs?

A. a representation of segmented storage space to be provided to their servers
B. a scenario where log file servers reach maximum disk capacity

C. a method for encapsulating Fibre Channel frames

D. a method for optimizing LAN traffic

Correct Answer: A

QUESTION 2

You have a RAID 5 set with five disks at 400 GB each. Approximately how much usable space would this configuration
yield?

A. 1 terabyte

B. 2 terabytes
C. 1.2 terabytes
D. 16 terabytes

Correct Answer: C

QUESTION 3

Which device would communicate to a DAS?
A. switch

B. HBA

C.NIC

D. DB9 serial cable

Correct Answer: D

QUESTION 4

You are designing a synchronous remote mirror solution. Which two factors regarding maximum distance must be
considered in this scenario? (Choose two)

A. the customer\\'s application tolerance for latency
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B. the customer\\'s RTO requirement
C. the availability of high-speed communication links
D. the amount of storage required by the customer\\'s application

Correct Answer: BD

QUESTION 5

What should a valid iSCSI qualified name include?
A. the iSCSI string

B. date code, in yyyy-mm format

C. the WWN string

D. initials of company name

Correct Answer: B
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